
    Resp Ratio = 3.65e-001 * Amt + 1.19e-002
Coef of Det (r^2) = 0.999   Curve Fit: Linear
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    Resp Ratio = 4.31e-001 * Amt - 4.69e-003
Coef of Det (r^2) = 1.000   Curve Fit: Linear
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    Resp Ratio = 1.30e+000 * Amt - 2.44e-002
Coef of Det (r^2) = 0.998   Curve Fit: Linear

Method Name:  Z:\HPCHEM1\BNA_M\METHODS\8270-SIM-BM030816.M
Calibration Table Last Updated: Tue Mar 08 18:22:06 2016

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0 0.1 0.2 0.3 0.4 0.5 0.6

Phenol-d6
Response Ratio

Amount Ratio



R = 1.11e-001 A*A + 9.60e-002 A + 7.18e-004
Coef of Det (r^2) = 0.999   Curve Fit: Quadratic
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R = -2.51e-001 A*A + 4.27e-001 A - 4.26e-003
Coef of Det (r^2) = 0.993   Curve Fit: Quadratic
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    Resp Ratio = 1.68e+000 * Amt - 1.95e-002
Coef of Det (r^2) = 0.997   Curve Fit: Linear
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    Resp Ratio = 1.84e+000 * Amt - 6.80e-003
Coef of Det (r^2) = 0.993   Curve Fit: Linear
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